46

TE(%%B)4% HETEHTF—185 BERREXFBERIE —MREEXZHEKR

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 14,301,000 (F2$k)

1 (BA)7118% 10,700,000 O
2 (%) /FERE 10,900,000
3 KIBEEK (¥ 12,500,000




47

TE(%%B)4% HETEHFF—32%8 ERREXBERIT —REERB=RIRKR 28R

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 12,814,000 (Fi$k)

1 RAHEEL (BR) 8,280,000 O
2 (B)7A&% i (TXBE)




48

TE(XH) 4 HETEHFF—29% ERREXFBERT TEXHERKRN(EEHIIR)

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 8,462,000 (Fitk)

1 (B)FtLEE 6,700,000 O
2 (B)7A&% i (TXBE)




49

TE(XH) 4 HETEHFF—245 ERREXFBERT mERBEERCER 5

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 7,436,000 (Fiik)

1 (B)FREHX 6,618,000 @)
2 (B)7A&% i (TXBE)




50

TE(%%B)4% HETEHFF—26%5 BRREXHERIT tmaEsSIR 5

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 7,173,000 (Fiik)

1 (\) NS5Ok 6,500,000 @)
2 (B)7A&% i (TXBE)




o1

TE(%%B)4% HETEHFF—25%5 ERREXBERIE mEPERTELR 5

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 7,034,000 (Fiik)

1 THEM(H) 6,700,000 O
2 (B)7A&% i (TXBE)




52

TE(XH) 4 HETEHFF—23%8 BRREXBERILT —REEFTIAINIZRARK

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MO 6,752,000 (Fik)

1 (¥%) Tr24E 6,070,000 O

2 (A) ARFAER 6,300,000

3 (B)7A1E5% EM(TIXBTE)
4 (B) oSk EM(TXBTE)
5 THEMEHE) EH(IRHRE)




53

TE(%%B)4% HETEHIFT—175 ERREXBERIE —REEFR=XRK

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 6,403,000 (Fitk)

1 (%) /FERE 5,300,000 O
2 KIBEEK (¥ 6,050,000
3 (B)7188% i (TXBE)




54
IE(¥X%)4 ERETEHF—28F ERREXBRTE mEER1115HEN(ERA I IX)

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 6,048,000 (Fitk)

1 (%) =178EHM 5,320,000 O
2 (B)7188% EH(TRETE)




55

TE(%%B)4% HETEHFF—22% BRREXBERIT —REERFEATRS

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 5,410,000 (Fik)

1 (B) ARHESR 5,000,000 O
2 () == 5,389,000
3 (B)7188% i (TXBE)




56

TE(XH) 4 RETEHIF—205 BRREXBERIT —REEMIM=XREN

5 l =] FHIF6H10H

I & K & TR—=K

A HoF R — iR F AFL

¥ OE MM OB 5,261,000 (Fitk)

1 (B)HEEE 5,261,000 @)
2 (B)7A&% i (TXBE)




517

TE(%%B)4% REtFHMIF—165 EBREEBFRE —REEVHE=RIRR

5 l =] FHIF6H10H

I #2 B & LY¥-xxT-avy)—h

A HoF R — iR F AFL

¥ OE MM OB 4,160,000 (Fi1k)

1 (B)7A&% 3,100,000 O
2 M7=/ 3,600,000




58

TE(%%B)4% REHFEMIF—275 EBREXBRTE TEEBARBER 4

5 l =] FHIF6H10H

I #2 B & LY¥-xxT-avy)—h

A HoF R — iR F AFL

¥ OE MM OB 3,000,000 (Fitk)

1 (B)FREHX 2,670,000 @)
2 () ¥%EE 2,906,000

3 (B)71#5% E(TRXHE)




99

TE(%%B)4% HETEHF—215 ERREXBERIE —REEEENETR

5 l =] FHIF6H10H

I #2 B & LY¥-xxT-avy)—h

A HoF R — iR F AFL

¥ OE MM OB 2,465,000 (Fitk)

1 (%) TRE4A 1,880,000 O
2 THEM(B) 2,220,000
3 (B)7A&% i (TXBE)




60

TE(%%B)4% HETEHIF 305 ERREXFBERIL TE KT545#K 4

5 l =] FHIF6H10H

I #2 B & LY¥-xxT-avy)—h

A HoF R — iR F AFL

¥ OE MM OB 1,409,000 (Fi1k)

1 KIBEE (¥ 1,300,000 O
2 (B)7A&% i (TXBE)




